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1A. Consider the following equation:
b" = a

Identify the names for each part of this equation and any special features of the
notation that stick out in your mind.
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Name: Class #:
Look back on your work from problem 1A above. For each of the following power
expressions, evaluate the expression. Then, specifically identify the value of base b

and the value of power n
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2. EXPLORE BEHAVIOR OF POWERS

2A. Please fill out the table below. Specifically identify patterns in your work.
Work slowly and methodically on this problem. We’re going to use this work
to create power rules and the work you do is going to be with us for the rest of
this quarter (and many more years if you go on in your math career).
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2B. Using the table above, come up with a conjecture (a mathematical guess)

about the following power expressions.

= b
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Z’
S whea we fule ong buse b .
crbat | ")
\/ +o He .ﬂrs/}- power, we ,@CMbQ(\ l

(ju-c\ s‘.-\ﬁl( copy oF el
» |

bose back agan - bO = b - _k_i_
b

Zero as an exponent: b°

Sg mboiiC

C\nﬂ base b raised to the

VC.F th
| s equel to o Hhe

Zecot powecs
hUalae~ ONE
Negative exponent: b~ " ,
= ) whtn we fo ke base

/ b to a neg cIve pore
we cCan ‘7 et r:d ok
He (\L’githvt b/ 'h:x\((“f\c]
bese o o e pos(’\x
POoRT Qtadmimcyr.

Hidden in the table from problem 2 above are other “laws of powers.” These are
algebraic properties for taking powers of any base. In problem 3, we explore those

laws in more detail.
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